SECTION D. LISTENING

Part I. For each question, write the correct answer in the gap. Write one word or a number, A date or a time. (5 points)

Your answers:

	1. 
	2. 
	3. 
	4. 
	5. 


Part II. Listen to Mia and Tim talking about favourite television programmes. What programme does each person like best? For questions 6 -10, write a letter (A-H) next to each person. You will hear the conversation twice. (5 points)
	Example:
	

	0. Mia                               
	

	
	

	PEOPLE
	PROGRAMMES

	
	

	6. Rob
	   A. cartoons

	7. Hannah
	   B. cooking

	8. Carl
	   C. film

	9. Rosie
	   D. music

	10. Tim
	   E. nature

	
	   F. quiz

	
	   G. sport

	
	   H. travel


Your answers:

	6.
	7.
	8.
	9.
	10.


Part III. Listen to Fellcity asking Daniel about a school trip. For each question choose the right answer A, B or C. You will hear the conversation twice. (5 points)
11. How much does the trip cost?

A. £ 27


B. £ 55


C. £ 82

12. What must every one bring?

A. sleeping bag

B. a plate and cup

C. a tent

13. The campsite is ______________

A. in the mountains

B. on a farm


C. on the beach

14. This year they will not _____________

A. go walking

B. go climbing

C. go swimming

15. What time will the coach leave?

A. 6.00 a.m


B. 6.15 a.m


C. 6.30 a.m

Your answers:

	11.
	12.
	13.
	14.
	15.


Part IV. These people are calling their friends about the weekend. Are these statements are True or False? Listen and check (() the correct answer. (5 points)
	
	True
	False

	16. Penny agrees to go to the movie with Bob.
	
	

	17. Anne can’t come to the party.
	
	

	18. Ken invites Nancy to a movie.
	
	

	19. Anne and Mike are going to see a football game.
	
	

	20. Wendy can’t go to Jack’s house.
	
	


Your answers:

	16. 
	17. 
	18. 
	19. 
	20. 


---- THE END ----







SCHOOL CAMPING TRIP


Cost of trip:           		£ 39.00


Give money to:		(1) Mrs.  ________________


Day of return:		(2) ____________________


Time to arrive at school: 	(3) __________________ a.m


Travel by:			(4) ____________________


Bring:				(5) _____________________
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